
A-A

FLANGE MOUNTING DETAILS

SUGGESTED SEALING

CONTACT ADVANCED ELECTRIC MACHINES FOR SUPPORT

A A

HDSRM150 C Sample Interface Drawing

TSI-023

1 / 4 1 : 2

mm

1

Mark.Russell

STATUS SHEETSCALEUNITS

MATERIAL

TITLE

DRAWING NO. REV.

DRAWN/DESIGNER APPROVEDCHECKED

22/12/2023 28/03/2024Stephen Addison Stephen Addison 28/03/2024

Released

Copyright Advanced Electric Machines 

Ltd 2023

 

Property of Advanced Electric Machines 

Ltd; no copying without permission

DATE OF CREATION

DATE DATE

MASS

28.80 kg

STOCK

A

B

C

D

E

F

A

B

C

D

E

F

1 2 3 4 5 6 7 8

1 2 3 4 5 6 7

G

H

9 10 11

G

H

108 9 A2

CofGCofG

MAX CLAMPING FACE

AREA = 629mm

2

Fz

(95.5)

INTERFACE DETAILS

NOTE:

 

1. DRAWING TO BE READ IN CONJUNCTION WITH PRODUCT MANUAL, EDR-0561.

 

2. ALL DIMENSIONS AND FEATURES SUBJECT TO CHANGE. WARRANTY DEPENDENT ON INSTALLATION.

 

3. UNAUTHORISED DISASSEMBLY WILL INVALIDATE WARRANTY.

 

4. ALL BRACKETED DIMENSIONS ARE FOR REFERENCE ONLY, e.g. "(000.0)"

LOCATION SPIGOT

O-RING GROOVE

DRAWING RELATES TO

 

AEM-21150100004

AEM-21150100017

AEM-211501A0041

(41.5)

E
X
T
 
2
0
Z
 
~ 1

.
0
m

 
~ 3

0
R

 
~ 5

h
 
I
S
O

 
4
1
5
6

r
0
.
0
5

B

b
0
.
0
2
5

A

2x LIFTING EYE

M8x1.25 x 17 DEEP

1
8
3

n
H

7

(

-
00
.
0
4
6

+

)

(30°)

(45°)

(45°)

n250(  PCD)

0
.
7

30°`0°

(45°)

(45°)

10.6

n136x  HOLES

2
1

(
Ø

)

21 EFFECTIVE SPLINE LENGTH

5

RECOMMENDED

INT 20Z ~ 1.0m ~ 30R ~ 5H ISO 4156

POSITIVE DIRECTION OF ROTATION:

 - CLOCKWISE

AS VIEWED ON THE DRIVE END

REVISION HISTORY

ZONE REV DESCRIPTION ENGINEER APPROVED DATE

SH2, C8

1

EC24-045 Clamp force required added

DS SA

04/04/2024



HDSRM150 C Sample Interface Drawing

TSI-023

2 / 4 1 : 2

mm

1

Mark.Russell

STATUS SHEETSCALEUNITS

MATERIAL

TITLE

DRAWING NO. REV.

DRAWN/DESIGNER APPROVEDCHECKED

22/12/2023 28/03/2024Stephen Addison Stephen Addison 28/03/2024

Released

Copyright Advanced Electric Machines 

Ltd 2023

 

Property of Advanced Electric Machines 

Ltd; no copying without permission

DATE OF CREATION

DATE DATE

MASS

28.80 kg

STOCK

A

B

C

D

E

F

A

B

C

D

E

F

1 2 3 4 5 6 7 8

1 2 3 4 5 6 7

G

H

9 10 11

G

H

108 9 A2

6x HEX HEAD FLANGE BOLT

G10.9 M12x50 BZP (USE LOCTITE 278)

 

34 kN CLAMP FORCE REQUIRED

TIGHTENING TORQUE TO BE DETERMINED

BY CUSTOMER BASED ON MOUNTING ARRANGEMENT

CONTACT ADVANCED ELECTRIC MACHINES FOR SUPPORT

MOTOR MOUNTING DETAILS

1



HDSRM150 C Sample Interface Drawing

TSI-023

3 / 4 1 : 2

mm

1

Mark.Russell

STATUS SHEETSCALEUNITS

MATERIAL

TITLE

DRAWING NO. REV.

DRAWN/DESIGNER APPROVEDCHECKED

22/12/2023 28/03/2024Stephen Addison Stephen Addison 28/03/2024

Released

Copyright Advanced Electric Machines 

Ltd 2023

 

Property of Advanced Electric Machines 

Ltd; no copying without permission

DATE OF CREATION

DATE DATE

MASS

28.80 kg

STOCK

A

B

C

D

E

F

A

B

C

D

E

F

1 2 3 4 5 6 7 8

1 2 3 4 5 6 7

G

H

9 10 11

G

H

108 9 A2

COWL MOUNTING DETAILS

10x HEX HEAD FLANGE BOLT

G12.9 M6 x 16 BZP (USE LOCTITE 278)

TORQUE - 14.5Nm

PRODUCT LABEL



A

B

C

D

E

F

A

B

C

D

E

F

1 2 3 4 5 6 7 8

1 2 3 4 5 6 7 A3

HDSRM150 C Sample Interface Drawing

TSI-023

4 / 4 1 : 2

mm

1

Mark.Russell

STATUS SHEETSCALEUNITS

MATERIAL

TITLE

DRAWING NO. REV.

DRAWN/DESIGNER APPROVEDCHECKED

22/12/2023 28/03/2024Stephen Addison Stephen Addison 28/03/2024

Released

Copyright Advanced Electric Machines 

Ltd 2023

 

Property of Advanced Electric Machines 

Ltd; no copying without permission

DATE OF CREATION

DATE DATE

MASS

28.80 kg

STOCK

(
3
2
7
)

(333)

(
2
1
2
.
5
)

(
2
5
4
)

CONNECTIONS AND BASIC ENVELOPE 

DIMENSIONS WITH COWL AND FAN ASSEMBLY

EARTHING POINT

M6 x 1

TORQUE - 14.5Nm

HIGH VOLTAGE CONNECTION

AMPHENOL HVSLS 600 02 3A

CONNECTOR

LOW VOLTAGE CONNECTION

AMPHENOL LPT02SE-14-XIIP(072)(72)

WITH PIN SOCKETS UPTC-SF-16P-20-3

SEE PRODUCT MANUAL

COMEX FAN

F83-24L5104AN-E4HT-50S AMPSS1,5 L1000

U
 
 
 
 
 
 
 
V

 
 
 
 
 
 
 
W

PRODUCT LABEL

PHASE DESIGNATION

(253)


